Chapter 26 Dividend Policy

Answer 1

(a)

[image: image1.emf]
(b)

[image: image2.emf]
(c)
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Answer 2
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Answer 3

(a)

Returns from stock investments include capital gains and dividend yield. In a particular year, stock prices may go down rather than up, eroding capital gains. On the other hand, holding stock for less than a year may lead to little or no dividend yield. This is particularly true for short term investors. In addition, a company may not distribute any dividend.

(b)

Residual dividend policy means dividends are paid out of whatever earnings are left after all positive NPV investments have been funded and the desired debt/equity ratio is obtained. If there are no funds left after financing the positive NPV project, no dividend will be distributed to the shareholders.
(c)

A high dividend is better for retired persons who need current income and to resolve any uncertainty in future dividends. Retired persons need cash flow to maintain their standard of living. Dividends may go down rather than up so people demand a high current dividend rather than an uncertain future dividend. A high dividend may also signal favourable financial performance in the coming years.

(d)

Companies distribute a low dividend because the company wants to retain more cash for financing positive NPV projects or foresees low growth in the years ahead. In addition, bond indentures may restrict the distribution of a high dividend.

(e)

The required stock price = 
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Answer 4
(a)
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(b)
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(c)

As shown in (a) and (b), dividend payment and stock repurchase should not have impact on the share price or shareholders’ wealth. Stock  repurchase actually can be seen as an alternative to dividend payment here. Shareholders who want a cash dividend could get the cash by selling some of their shares on hand if the company does not declare any dividend.
(4 marks)
Answer 5
(a)
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Answer 6
(a)
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Answer 7

(a)

Historical dividend yield = historical dividend per share / price per share
= HK$5.2 / HK$108 = 4.81%

(b)

The present value of future dividend decreases, price of the stock decreases accordingly.

(c)
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(d)

Residual dividend policy refers to the situation when a company distributes dividend only after paying for its new project. When there is nothing left after financing its new project, no dividend is paid.
(e)

It is difficult to maintain a constant dividend growth policy because if the dividend is growing every year, sales revenue and profit are likely growing at the same rate which is very difficult as the economy is cyclical.

Answer 8
(a)

Shareholders contribute equity to a company instead of putting it in a bank. They expect to share the profit generated from the company they invested in. A company generally distributes dividends to shareholders in order to satisfy their expectations.

(b)

A company which re-purchase its own shares could reduce the supply of shares in the open market; or it can use the shares for a stock option offered for employees. With reduced supply of stock, the stock price increases and the shareholders’ wealth also increases.

(c)(i)
After the stock split, number of shares = 2,000,000,000
(c)(ii)

After the 10% stock dividend, number of shares increased by 10% to 1,100,000,000.

(d)(i)

With the stock split, the value of a stock will be reduced. It makes the value of the minimum number of stock purchase, called value of the lot size, also reduce. As such, it facilitates more active trading in the stock market.

(d)(ii)

With stock dividend, there is no outflow of cash in the company. It is just a transfer of value from retained earnings to common stock. The company can still maintain its distribution policy but it is stock rather than cash.

(e)(i)

The company distributed a dividend less than the profit earned in a year because not all of the profit is in the form of cash while dividend distribution is mostly in cash. A company is not able to distribute a cash dividend more than its distributable profits and the cash available in the company; moreover, a company may wish to retain the profit for re-investment in future projects, so that it may distribute a dividend which is less than the profit earned.

(e)(ii)

When a company distributes more dividend than the profit earned in a year, it distributes part of the accumulated profit it earned in the past. If there is no profitable investment projects to be taken up by the company, the company may consider to distribute more dividend than the profit earned in a year.
(f)

In residual dividend policy, dividend is distributed after the profit is used to finance any project with positive net present value. Any profit left is distributed to the shareholders.
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